
=$5=�'=(1,(�QU������
%XUPLVWU]D�%RMDQRZD�]�GQLD����OXWHJR������URNX

Z�VSUDZLH
]QLV]F]HQLD�GRNXPHQWyZ�QLHDUFKLZDOQ\FK�NDWHJRULL�³%´�]�Z\ERUyZ�RUJDQyZ�MHGQRVWHN�

VDPRU]�GX�WHU\WRULDOQHJR�SU]HSURZDG]RQ\FK�Z�GQLX����SD(G]LHUQLND������URNX�
                                                       ��           ���

:�UHDOL]DFML�QDND]X�.RPLVDU]D�Z\ERUF]HJR�Z�/HV]QLH�]�GQLD���OXWHJR������URNX�'6/�
����������L�Z�RSDUFLX�R�=JRG
�1U���������'\UHNWRUD�$UFKLZXP�3D�VWZRZHJR�Z�/HV]QLH�]�GQLD
���VW\F]QLD������URNX�QD�EUDNRZDQLH�GRNXPHQWDFML�QLHDUFKLZDOQHM��NDW�´%´��SU]H]�.UDMRZH
%LXUR�:\ERUF]H�'HOHJDWXU
�Z�/HV]QLH�]DU]�G]DP�FR�QDVW
SXMH�

����

�� 3RZRáXM
�NRPLVM
�Z�VNáDG]LH���3U]HZRGQLF]�FD�0DULD�0LFKDODN
���������&]áRQNRZLH 5RPXDOGD�3HU]

'DQXWD�.RZDOVND�
�� =DGDQLHP�NRPLVML�MHVW�]QLV]F]HQLH�SRSU]H]�VSDOHQLH�QDVW
SXM�F\FK�GRNXPHQWyZ�

���VSLV\�Z\ERUFyZ�±�RU\JLQDá�L�NRSLD�
���NDUW\�GR�JáRVRZDQLD�±�Z\NRU]\VWDQLH�L�QLHZ\NRU]\VWDQH�
���GUXJLH�HJ]HPSODU]H�

D��SURWRNyáyZ�UHMHVWUDFML�OLVW�NDQG\GDWyZ�QD�UDGQ\FK�RUD]�Z\ND]yZ�SRGSLVyZ�RVyE�
����SRSLHUDM�F\FK�]JáRV]RQH�OLVW\�
E��SURWRNyáX�UHMHVWUDFML�NDQG\GDWD�QD�EXUPLVWU]D�
F��SURWRNyáyZ�JáRVRZDQLD�Z�REZRG]LH�
G��SURWRNyáyZ�Z\ERUyZ�ZUD]�]�]HVWDZLHQLDPL�Z\QLNyZ�JáRVRZDQLD�Z�RNU
JDFK�
����Z\ERUF]\FK�

�� 3URWRNyá�]QLV]F]HQLD�DNW�Z\PLHQLRQ\FK�Z�XVW����QDOH*\�SU]HND]Dü�GR�'HOHJDWXU\�.UDMRZHJR
������%LXUD�:\ERUF]HJR�Z�/HV]QLH��Z�WHUPLQLH�GR�GQLD����PDUFD������URNX�

����
1DG]yU�QDG�SUDZLGáRZ\P�SU]HELHJLHP�SUDF�Z\PLHQLRQ\FK�Z�����SRZLHU]DP�=DVW
SF\

%XUPLVWU]D�


